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g

3.43
—3.71

6.14
-/.41

7.99
—2.52

7.13
—-3.73

7.58
-9.96

A7
9.34
—2.87

2.35
-9.7

5.18
-4.15

7.85
—4.68

3.32
—6.81
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2 HI:

8.77
—-5.89
2.88

3.94
—-3.43
5.51

3.23
—6.85
—-3.62

8.76
—7.7
1.06

2.34
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1.05
—6.04
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6.9
—6.93
-0.03

5.92
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-0.13
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-0.75
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-4.99
—-3.25

6.18
-9.16
—2.98

6.31
-4.83
1.48

1.86
—2.38
-0.52

4.4
-8.4

7.72
—9.56
-1.84
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3.43
—3.71
4.72

6.14
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-1.27

7.99
—2.52
5.47

7.13
—-3.73
3.4

7.58
—9.96
—-2.38
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9.34
—2.87
6.47

2.35
-9.7
—7.35

5.18
-4.15
1.03

7.85
—4.68
3.17

3.32
—6.81
-3.49
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